K°RSEN

Low Speed High Torque Orbital Hydraulic Motors
(R K ARG S ik

SMT Series
Technical
Information

SMT &% ik

Jining Kersen Hydraulics Co., Ltd. e cso) 537 263513812613777 Fax: (86) 537 2613277

/;IC ?%’I‘;T\ ﬁ/ﬁigﬁ PR 2 7] Tel: (86) 537 2635138/2613777 Fax: (86) 537 2613277
2014-10



K O BSE" SMT Disc Motors

FERCILI R ik
SMT Series .
* Design Features
SMT %4 SH AR A

*Roller bearings permit high radial loads

oA R By 1R AR R i ] R
YUK )50

sUse high pressure capacity shaft seal

oK FH R g s il

*Wide variety of mounting flanges, shafts,
and displacement provides design flexibility
R FOUHIEBEA R W eke i, Hthah, HEaE
85, N R R Rk PR
sDirection of shaft rotation and speed can be
controlled easily and smoothly

o 1) ST A2 1 s R D7 ) R e i
*Best combination of efficiency and
economy in heavy duty applications

» Specification Data :@%ﬁ?%ﬁ%ﬁ”ﬁg, %I ik HA R R )

Continuous

Max.S| d
ax.Spee () 775 615 485 387 307 241 184 153

Intermittent

(RES

Hn
it
&
B

866 834 698 570 454 355 276 230

Continuous

T
orque () 475 615 775 965 1215 1125 1380 1570

Intermittent

HiE (REa) 770 980 1255 1455 1885 1330 1650 1875

Maximum Case Pressure -- Without Case Drain (RS sttsm O, ShE&EAERSEH) ---90Bar

2014-10



K*RSEN

SMT Disc Motors

ARG AU ik

Max. pressure is the allowed pressure at the inlet port. Rated pressure is the e ANI45 s g 48 Sy ik kil 10 AR VAR IR s g, T4
working pressure difference between inlet and outlet port.

A simultaneous maximum RPM and maximum pressure NOT recommended o2 35 S £ 7 ] i 75 f5 R 3 i 5 K J 1 1 10 A%

Maximum pressure or maximum RPM operation: 10% of every minute

FrHR Wi I S T AR ) %

AIEGHEAT LB - 5 HIBAEI T N SR s AT A

Recommended fluids: Anti-wear type of hydraulic oil. Viscosity recommended 1£10%
37-73 ¢St. Recommended filtration 1ISO18/13. Maximum operating
temperature recommended 80°C

Special high pressure capacity shaft seal ensures back pressure up to 7

Mpa. Recommended preferable back pressure 5 Mpa. Case drain line is
recommended when back pressure higher than 5 Mpa. When case drainine sz 47k, v (i s py A & 76 i P, DA L i 7 3]
is used, make sure the motor is always filled with oil. The motor life is
benefited from a case drain line.

Itis highly recommended that the motor runs at 30% of rated pressure for at
least one hour before application of full load. Be sure the motor is filled with

fluid prior to any load applications.
* SMT Series Motor Performance Data

SMT #41 ik e S 4

wE

Flow LMP

195 cc/r ABar EZE
| 35| 70| 105| 14o| 170 205| 240| 275|

Loll 75| 165] 260
I | I -]

25|l 75| 170] 265 350] 440
| || 7] 35| 34| 30| 26
s || 8| 275] 270 365 455
| || _7e] 74| 72| 66| 62
a0 || 85| 189[ 275 370] 465
| || 153) 148] 144] 131] 119
45 || 85| 180[ 280 375] 475
| || 230] 225| 221| 212| 203
o1 || 80| 180 280 375] 475
| || 307) 303] 300| 291| 283
76 || 80| 180[ 280 380] 480
| || 384) 379 374| 365| 356
o || 80| 175] 275 375] 475
| || 462 456] 450| 440] 429
we || 78| 175] 270 375 475
||| 539 532| 526| 514| 502
i || 70| 170] 270 370 470
| || s17] 609 602| 589| 576
a6 || 70| 165] 265 365 465
| || 692 683] 674| 659 645
i || 70| 165] 260 365 465
I | L)

170

Motors run with high efficiency in all

areas designated with a number for torque

and speed. however for best motor life

select a motor to run with a torque and

speed range shown in the yellow area.

ARG EHEBERNE®, FEFERCXEIREN T TEM.
Continuous HE&TR
Intermittent NELTH

3!

wE

Flow LMP

HEFEWR I K A 37-73cSt il BENS . 1SO18/13, %
S f il FE N 80°C

Al B T AR TMpalk i b, HETE AT AN
5Mpa, it 5Mpaltf, RSN . DIAAEIEAT A
RLLF PR R 411

< FU L LY IR E N SR AT 58 LAB0% I A 1B AT 401
NI, DA LD IA P B FE 5 I

245 cc/r ABar E#
| 35| 70| 105| 140| 170 205| 240| 275|

95| 215

4 1
100 220| 340| 445| 555
29| 26| 24| 21 17
105 225| 345| 460| 575
60

121

Performance data is typical at 120 SUS . Act
data may vary slightly from unit to unit in
R BB R AR DA FE RS B 120SUS TR FRIA
FAMDELMBBLBHESR .

2014-10



3

wE

Flow LMP

SMT Disc Motors

310 cc/r ABar E=E
I 35 | 70 |105|l40|l70|205| 240 | 275 I

60| 125] 275

15

30

45

61

76

91

106

121

136

151

189

227

Torquedf%E: 840Nm
Speed#%3#: 534RPM

Performance data is typical at 120 SUS . Actual data may
vary slightly from unit to unit in production

LR PSR RATE D A TEMBOR BE120SUS T3 T A K BIE,
TRAM DAL REEEER.

Continuous LT W
- Intermittent RELTH

R ik
390 cc/r ABar E=E
| 35 | 70 |105|l40|170| 205 |240 | 275 |
175 | 365
3.8
2| 1
2 s || 180 370] 585 730] 875
) 18| 17| 16| 14| 12
15 || 185 375] s60| 740 920
38| 37| 35| 33| 29
50 || 188 380 575 760] 950
76| 74| 72| 68| 65
45 || 185] 385 580 770] 965
115| 112] 109 105| 100
61 || 180 380 580 770] 965
154| 151 147| 143
] 76 || 180] 380] s80] 775
= 193| 189 187]| 182
170| 370 570( 765
a | 91
= 230| 229 225( 220
165| 365| 565 760
= | 106
© 268 | 266 261 256
2% 160| 355] 555 750
121
306| 304| 299| 202
136 || 155 340 545] 730
346| 340| 336 329
150| 325] 535( 730
151
386
189
227

Motors run with high efficiency in all

areas designated with a number for torque

and speed. however for best motor life

select a motor to run with a torque and

speed range shown in the yellow area.

AR DEFAERNFR, FERERCKEFEN TR TEA.

2014-10




K*RSEN

SMT Disc Motors

490 cc/r ABar JEE

[ 35 | 70 [ 105140 170 | 205 | 240 |

235| 480 695

3.8
7 5 3
7.5 240| 480 710| 945] 1175
14 13] 12| 11 8
15 235| 485] 725| 960| 1195

30| 29| 28| 27 25
485 735

30
45
61
ﬂﬂﬂli{ 76
A | 91
=
=
& | 106
o
—
=

121

136

151

189

227

Motors run with high efficiency in all

areas designated with a number for torque

and speed. however for best motor life
select a motor to run with a torque and

speed range shown in the yellow area.

Torquedf%E: 860Nm
Speed#:7&: 362RPM

ARG AU ik

625 cc/r ABar JEE
[ 35 ] 50 [ 70 | 85 [105] 120 [ 140 |

250
3.8
5
260
7.5
12
275
15
24
295
30
45
295
45
72
285
61
94
i) 280
= | 76
X 119
265
o | o1
= 143
—
255
& | 106
o 168
—
™ 240
121
192
220
136
216
200
151
240
189
227

Performance data is typical at 120 SUS . Actual data may
vary slightly from unit to unit in production

B3RP BB R b o T A7 i B0R BE 1 20SUS TR UL T AR R 2 »
AR GEEWER LB EZ5

Continuous  HELTH

It mispmER e, wareRaxgrEn TR FEA. [ nternittent REZTHR

2014-10



SMT Disc Motors

800 cc/r ABar EE
{35 ] 50 [ 70 ] 85| 105 | 120 | 140 |
420 590| 776] 960
3.8
4| 4 3] 2
1 s || 420] 594] 790[ 972 1176 1344
) 4 8| 8| 7 6 5
15 || 35| 608 | 840] sss | 1204] 1308
18| 17| 17| 18| 15
5 || 420| 396 830 88 [ 1204
36| 35| 35| 34| 33
45 || 380 565 785 972] 1190
55| 55| 54| 54
o1 |I 340] 520 760 020
i 75| 74| 72| ™1
£ [ 6 || 328 500] 730] 000
93| 92| 90| s9
(=W
S [, || 315] ¢70] 700] 860
= 111] 110 109
s 310 450| 650
2 [108
oy 120 128 127
280 420 610
121
148 146 145
270 400 550
136
166| 165| 165
2
151 || 280] 50| 500
182
189
227

Torqued%E: 580Nm
Speed#%i#&: 225RPM

nE

Flow LMP

HERC TR ik

985 cc/r ABar EZE
[15] 35| 50] 70| 85 [ 105 ] 120 | 140
215| 465| 645] 865| 1080
3| 3] 2| 2 1
215| 470 710| 940 1175] 1410] 1565
s| 8| 7| 7 6 5
225| 485| 775| 965 1205] 1445
15| 15| 15| 14| 14| 13
230| 495 750 995| 1235] 1480
30| 30| 30| 20| 28| o7
230| 495| 750 #ue | 1250] 1495
45| 45| 45| 44| 43
225| 290 740] 995[ 1245
61| e1| 61| 0| 59
215| 475 730] 985[ 1235
77| 77| 76| 78| 75
205 460 705] 960 1220
92| 92| 92| 91
185| 445| 700| 950
107| 107| 107] 106
165| 425| 675 925
123 123] 122] 121
130 395| 645| 895
138 138] 138] 137
365 865

Performance data is typical at 120 SUS . Actual data may

vary slightly from unit to unit in production

ERAPIEAE R AR E T IR TE 1 BORS BE120SUS Tt T A K%,
ARAKDIELME RSB T ER.

Continuous

- Intermittent

BT H
AESZETHR

2014-10



K * BSE" SMT Disc Motors

BRI ik
*SMT Series Dimensions
SMT A& )
Standard Motor A Series
PRt Sk ARSI ‘ H1
He
145.8 o4a a5

2@127 /6125

145.8

/ 80105
J -
Bolt Circle: T2 Gase Drain

BRI AE: 0D S ENTEIN] T2k

Standard Rotation

Viewed From Shaft End
Port A Pressurized --- CW
Port B Pressurized --- CCW
PN anlid ey

T i b et
AT, B B e
Bl i, A e

G1/4” ¢ 14.5/ 162 2121-01
M14X1.5 ¢ 14.5/ 162 2121-02
NOJC ¢14.5/d162 2121-03
NOK& b 14/ 160 2121-04
N0 $17/ 162 2121-05
G1/4” b14/ 160 2121-06
M14X1.5 & 14/ $155. 56 2121-09
9/16-18UNF & 14.5/ 162 2121-10
M14X1.5 d14/ 160 2121-11
i

2014-10



K * BSE" SMT Disc Motors

. . . HEPCT . Ty ik
Shaft Side Load Capacity SMT Standard Motor A Series
SMTHRE Eh I AZ Ly it Rl 0] () 2347 3 )
Kg Kg
4000 4000
3000 3000
2000 2000
1000 1000
© -50 =25 O 25 50 75 100 125 150 0 -50 =25 0O 25 50 75 100 125 150
561 566
Sandard Not or 3'&9*‘1 Shaft Standard Mtor Spline St
i Tk A (R
Standard Larger 4 Bolt Flange B Type
B M briE4fL KT = H1
H2
178
2 8
7
[ —|
g} D$
- i I
o s s
L
‘ Gase Drain gpjliti 1 L
Gl 4"| 2115-01
\M glzmm.a 211502 65 L
Bolt Circle: IR 2115-03

IER LA : 9200

Standard Rotation

Viewed From Shaft End
Port A Pressurized --- CW
Port B Pressurized --- CCW
ik A RE R 7 1l

T i A ot

A EE, ST e
Byl ik, 1IN iEs

2014-10



SMT Disc Motors

Dimensions ---Shafts SMT Serirs

SMT AR 1| Ly ikt b )T

HERC TR ik

Involute Spline B1101-01 [|Involute Spline M2.5 Z16 a 30° B1101-38 | Involute Spline A1101-08
WIFLAEEE M2.5 217 a30° A1101-34 |HiFFLAEM2.5 716 a 30° WITLEiEEE M2 716 a30°
43min A‘ 56 —} 40min 4‘
\ \ \
- 0 —~| Lo |
g = | |3 |
HET A I /it (A - I | ety il e e
SRS ‘ S| g [ESY \
| | |
64 79 | 70
L | L L |
M12 M12 M12
Tdeepl9.8 01 Rdeepl9.8 02 deep19. 8 03
Tnvolute Spline Involute Spline Involute Spline B1131-44
WL AEEE 12/24 1715 « 30° WiTLRAbEE 12/24 171 a30° WITLAEHE12/24 171 a 30°
40. Smin 4‘ 55min | 40. 3min }
: ] R |
S - e 88— E
60 . \ SE \ 56. 7 \
| L ’
04 o0.375-16UNC deepl9 mgnz 06 0.375-16UNC deepl9 A1131-39 3/8-16UNC
05 mi2-6n B1101-37 07 wi2-eH Al131-42 VAdeepl9. 8 08
Square Spline: B1101-02| Square Spline: A1101-29 | Sauare Spline: B1101-27
k b - 79 0.1
SR AL : 6D-0 30X0 25. 3X87) KETHAEHE : 6D-0 30X0 26X6.0 92 SETBALRE :6D-0 38X0 31X9°0 15
| a |
T‘ \ 55 \
\ \
S g _ | ks _ - | B o | N |
QN \ R \ S ‘
s I | © | s \
32min \ 40 \ \
64 ‘ 63 | & i
L J L \ |
M8 M8 M12
Rdeep20 09 MRdeep20 1() Fdeepl9. 8 11
Square Spline: B1101-05| Sauare Spline: A1131-21 Sauare Spline: Al131-31
T A : 6D-0 40X0 35X100) (g KL 6D-0 40X2 35X107) 04 A1101-21  HiFE AL :6D-0 40X2 35X1070, g A1101-30
\ \ \
) 1 44T 0 71
S S \ 5 \
so@ B _ ! sq9 Al i S = I I . e
SIS T Sl s \ SISt \
=Y \ S \ s ‘
81 ! 61 63 4‘
L i L L |
M12 M8 M16
TRdeepl9. 8 12 Wdeepls 13 Wdeep23 14

Q

2014-10



K BSE" SMT Disc Motors

BRI R ik
Dimensions ---Shafts SMT Series AL

SMT AR F1| Ly ik Kt il ST

Square Spline: A1131-40 |Sauare Spline: A1131-22 | #32Straight shaft ¢ 324l -35
HEALEE : 8D-0 42X0 36X70 013 BL101-07 | M1 : 8D-p 4230 36X7 0, 013 AL101—22 | Flat keyl0 F4t10 . A1131-35 ‘
o | B —
5 T 1
o | _ _ |
B ‘ ‘ T
S @ l =il _ «© ‘
59 3 e — |
© ‘ } C (¥Kdeepl9. 8) b L
| 7
63. 6 |
64.5
L ! L NO. | a b C Part Code
M12 17 | 55| 64| m8 | B1101-28
Wdeepl9.8 15 M10 18 [45 | 54| mi2 | ALI3I3
hdeepld. Yideop2s 16 19 |50 |60 | ml12 | ALI3I-16
®35Straight shaft o365 fil B1101-03 | 1.5" Straight shaft @38.1Efli A1131-24 | 940Straight shaft ¢40EL%h A1131-26
Flat keyl2 “P4#12 Flat key9.5 “F4#9. 5 A1101-24 | Flat keyl2 “Fht12 A1101-26
|
R 10 o 45. Tnin _ I 63 i
! NN — e [ E ! \
| A | |
4.2 | o2 } o 8 B
0| - - - ‘ <= _ _ ogled _ , i |
By | oi| % | e B
S o
N | - |
81 59 ! 79 \
L L j 94 T
M2 0. 375-16UNC Wiz L
deeplo.8 20 Rdeep18.7 21 Rdeep25 22
$40Straight shaft ®40Fi%l 38. 1Straight shaft @38. 177
Flat keyl2 THH12 DU ISraight shart 03 LAH 01131-37 | o50Straight shaft o50f4  B1101-06
at keyd. 5 9. 5 Flat keyl4 P14
5 a — |
1 1 | 5 a \ \
o } 1 | —i 5 70 i |
=3 of « g | [ I
I e b | |
< B D B B Jd 3 \
[ ] = \ o oo \
b B | o8 g - - aimm
L ﬂ b 3 4‘ Y |
M12 \
Rdeepl9.8 "o Ta [ b [ Part Code 0. 375-16UNC 81 4‘
23 | 45| 53| BI10I-39 Kdeep20 L |
24 [ 50 | 58| ALI31/1101-25 N.[a]b Part Code M12
25 | 65| 77| AlL131/1101-23 27 | 67| 78.5| BI1131-37 Rdeepl9. 8
26 | 70| 81| AB1101-04 28 186 102 AT131-41 29
454418 C1131-32 458 C1131-45
P11, 138 0 P11 138 0
5. 54-0. 24 5. 54-0.24 ‘
25 42.78 \
94.1 ;
of |
| i LO)|
| 0 } _ _ <A
~ T
T S N | ©
5.6 3 }
42 55. 55
L T<1:8
31

10

2014-10



SMT Disc Motors

Dimensions ---Shafts End SMT Series
SMT R 41 H ik i il Sk RO T

HERC TR ik

01 79.9~82.0 100. 8~102 1101-01
02 100. 4~102. 8 / 1101-38
03 86.4~88.8 101. 8~103 1101-08
04 75.5~77.7 / 1131-33/1101-33
05 81.6~83.6 / 1101-37
06 107.2~109. 4 / 1131-39
07 97.5~99.7 / 1131-42
08 77.5~79.7 92.919~93. 881 1131-44
09 85.4~87.8 100. 8~103 1101-02
10 79.4~81.8 / 1101-29
11 100.4~102. 8 115.8~117 1101-27
12 102.4~104. 10 117.8~121 1101-05
13 77.4~79.8 / 1131-21/1101-21
14 79.4~81.8 / 1131-31/1101-30
15 79.4~81.8 103. 8~105 1131-40/1101-07
16 79.4~81.8 / 1131-22/1101-22
17 85.4~87.8 100. 8~102 1101-28
18 68.5~70. 7 / 1131-35
19 74.2~76.4 / 1131-46
20 102. 4~104. 8 117.8~119 1101-03
21 75.4~77.8 / 1131-24/1101-24
22 110.4~112. 8 / 1131-26/1101-26
23 69.4~71.8 / 1101-39
24 74.4~76.8 / 1131-25/1101-25
25 92.9~95.2 / 1131-23/1101-23
26 102. 4~104. 9 117.8~120 1101-04
27 132.4~134. 8 / 1131-37
28 118.5~120.7 / 1131-41
29 102.4~104. 11 117.8~122 1101-06
30 91.5~93.7 / 1131-32
31 93.0~95.2 / 1131-45

2014-10



SMT Disc Motors

Dimensions ---Port SMT Standard A Series
SMTAREA R Y Sk i RS

HERC TR ik

PORT: Case drain PORT: Case drain
bil=H i : i i :
01| 2-M33x2|  M14XL.5 | 2305-01 05| 2-27x2 Gl/4 | 2305-05
02| 261 G1/4 BSP | 2305-09 06| 2-RIBSP|  RI/4BSP | 2305
03] 2-63/4 G1/4 BSP | 2305-10
04| 2-M33X2|  G1/4 BSP | 2305-08
Case drain
ik
’ ,
I _ [T
! S ! S
a H Lo +
= <
13 13|
<X 4 m 4.
\>< o e drain ' R
L 1 ‘ { ‘
|
37.840. 1|\ _PORT: B . 38+0.1 |\ PORT: B
i B W B
PORT: drain PORT: | Case drain
bi=h Hii=h bi=h Hiti=
07| 2016 M14X1.5 | 2305-02 10| 1. 3125-12UNF| 0. 4375-20UNF| 2305-06
08| 2916 | & (None) | 2305-04 11 |1. 0625-120NF| 0, 4375-20UNF| 2305-07
09| 2920 MI4XL. 5 | 2305-12 12| 2612 Gl/4 | 2305-11
gé\><
PORT: B PORT: A \o
A B\l A N
\><
o
A Y
/
"/
- 8%
L L
A \ < /X‘ <
Case drain ) ! Case drain \>< o
ik . = ik e 4 =
{ = < o
= =
4-M12
19 | 19 19.5]19.5| \ PORT: B
W B
PORT: Case drain
T biisji=h
13| 2216 MI4XL. 5 | 2305-03
PORT: B PORT: A
Wi B WA A

Case_drain
b=}

19 19
22 22

1}2

2014-10



SMT Disc Motors

Dimensions ---Port SMT Large Flange B Series

SMT AT E B ARSI Skl RS

HERC TR ik

PORT: | Case drain PORT: drain
i il 112 PLIsE LISH
51| 261 G1/4 2304-13 52| 2-63/4 G1/4 2304-10
53| 2-M27X2 G1/4 2304-14
54| 2-763/1 G1/4
PORT: B 4-M12 PORT: B
il We: B : 4-M10
WA
n “
8] =]
I w
el = B ziI = g
= E =
‘ G - A
Case drain Case drain
BRI it il o
234 | 234 || 234 | 234 a6 | 216
So02
PORT: | Case drain PORT: | Case drain
i il e jLI=H il e
55 261 ¥ (None) |2304-02 56| 263/ | F (None) | 2304-04
5T[2-M22X1.5 | & (None) | 2304-05
58| 2-61/2 | & (None) | 2304-12
B 4-MI2 59| 2-M33X2 | K (None) | 2304-15
B 5 60| 261 G1/4 2304-11
e B
] T
El ) |
B - &
I -\ 5
| =
i
23.4 | 23.4 || 23.4.] 23.4 PORT: A ;
5040.6 WA 50+0.6 PORT: A
WM A
PORT Case drain M PORT: | Case drain
i il il it
61| 2214 ¥ (None) 4-M10 2304-18 63|2-15-120NF|  E (None) |2304-16
62| 29214 % (None) 4-M12 2304
PORT: B
PORT: A il
/ !
| ‘ e
= = | o
0
23.4_| 23.4_[[ 23.4_ | 23.4 PORT: A
50+0.6 WM A
PORT: Case drain PORT: Case drain
i il e i i
64|2-M21X1.5| K (None) |2301-01 65[2-M22% 1.5 G1/4 2304-03
PORT: B PORT: B
% Wl B
T T
I I
I B I B
i 2\ ) Case drain i N\ R
I = I =
21.4 PORT: A {2l.4 | PORT: A
48+ 0. 6 W A 484+0.6 W A

I3

2014-10



K * BSE" SMT Disc Motors

. HEPCT . Ty ik
Standard Motor C Series (Wheel Motor)
PRt Ik C AR (e Hik)
22.3 _ 7.87(min) 17
¢184.15 1.75“Ta§ered Shaft
L HEEHN < 1:8
54
PCRT: B =N I T
B |
165.4 e el 98.2~95.5 77
23.5~26.7 L=174.7~177.5

Standard Rotation: Viewed From Shaft End

Port A Pressurized --- CW; Port B Pressurized --- CCW
kAR U5 T - T L

A ETEEN, B B e Bl e, N R

H1 185 191 198 207 218 233 249 273

H2 103 108 116 124 136 150 164 190

Dimensions ---Shafts SMT (Wheel Motor) Series
SMT &% (FEfe ) Hnd i RT

O A5HER1: 8 , 131732 GA5HERN 8 , 1131-45
411, 138 5.54-0.24 ‘ 411, 138 5.54-0.21 ‘
25 47 | 25 42.78 |
o4l [ F———1 04.1
o =l
X o Al I e He W 8
R ° bk o
5.6 N 5.6 3
22 54 22 55. 55
N M~_<]1:8 o <J1:8
1=174.7°177.6 1=176.2179. 1
30 31
®40Straight shaft @405l 1101-23
Flat keyl2 P12 1131-23
5 65
| ! |
|
- - I
|
77
L=176"178. 6
M12
Rdeep25 25

04
2014-10



SMT Disc Motors

Standard Motor D Series (Bearingless Motor)
FrHE S IED AR (JohA& k)

©0161.92

Internal Spline Data

WICHSH

Hardering Specification % fififiJiE :

HERC TR ik

H2 68~69.1

30

12

435 .86

438 4708

93155y

8455

HRC62

Effective case depthiZfii)/Z/EE: 0.7mm

2127.5 14

22.60.15 12.1~12.7

Standard Rotation:

Viewed From Shaft End
Port A Pressurized --- CW;
Port B Pressurized --- CCW
Ly bR HE e 77 o«

TH 0] i L il o
AT, B B e
Bl bk, WA e

H1 188 194 201 210 221 236 251 275
H2 105 111 118 127 138 1563 169 193

2014-10



SMT Disc Motors

Standard Motor ESeries (ZDT—— Brake Motor)

brift T IAE RS (ZDT

1402 %
9403 gy

|
wd |

}4ﬁ

82.6

HERC TR ik

4-¢18

. VY

2 fom
\

A=k
Brake-release port
TRt G1/4
— 13.5 13.5
71 4-p14
B % A 1=
! ¢
[ . s
= 4-M1e
18.
o 31 | 24
Case Drain

kil 1G1/4

Technical Datafi RZ¥:
1. Static brake torqueifiAsHIZIH1%i: 800NmM
2. Releasing pressureff /3 HJJ : 30~150Bar
3. Must be the case drain with return pipe connection

WAZBUAE I 1 R [ ol e
4. The same performance parameters and standard motor

PERESE I bR ik

5. Port can choose standard motor A type and B type housing

1 AT 8 P AR U s AR FIB A e 44

Standard Rotation:

Viewed From Shaft End
Port A Pressurized --- CW;
Port B Pressurized --- CCW
bR HE e 77 17 «

T B bl ol

Al e, e
Bl b, A e

H1 287.3 | 292.9 | 303.1 | 308.9 | 320.1 | 334.6 | 350.5 | 374.6
H2 224. 4 230 237.3 | 246.1 | 257.1 | 271.8 292 311.6
116

2014-10



SMT Disc Motors

(16)

Flange, Pilot®127 (A5)

P10 >
. . R ik
SMT Ordering Information
0 Port R175/166712UDNF _|Straight ®1.5” Standard 4 Bolt o1
ring, lear tase Draltl o).t Key 9.56 | Flange, Pilot ®127 | 193m1064 1065 1066 1067 1068 1107 . .- 1069
7/16-20 UNF Oring, 0188
10) (21) (A3)
Standard 4 Bolt
Straight ®40 . 191m 191m
®
Port G1” BSP, Rear |Flat Key 12 (31| FLense: (1>A131)ot 127 | 193m1094 1095 1096 1097 1098 (oo (o C 1099
Case Drain G1/4” BSP
06) Straight ®1.5” Standard 4 Bolt
Flat Key 9.52 | Flange, Pilot ®127 | 191m0131 0132 0133 0134 0135 0136 0138 0137
@1 (A3)
Square Spline
6D-40X35x10~ | arge 4 Bolt Flange, | o0 1041 1049 1043 1044 1045 1046 1048 1047
Port G1/2” Rear 35.95 (12) Pilot F160(B1)
Case Drain G1/4” S - R
(55) quare Spline
8D-42X36x7-50 | LAr8e 4 Bolt Flange, | g0 1001 1092 1093 1094 1095 1096 1098 1097
(15 Pilot ®160(B1)
Port G3/4” BSP, Rear X Standard 4 Bolt
. ” Straight @40 .
Case Drain G1/4” BSP, Flange, Pilot ®125 | 192m0031 0032 0033 0034 0035 0036 0038 0037
Flat Key 12 (24)
(56) (A6)
Port G3/4” BSP, Rear
Standard 4 Bolt
Case Drain G1/4” BSP, Straight ®40
0]
Standard Nanifold Port |Flat Key 12 (25| Flanse, Pilot®125 | 191m0061 0062 0063 0064 0065 0066 0068 0067
(A4)
Face (52)
Straight @40 Standard 4 Bolt
Flat Key 12 (25) |Flange, Pilot®127(a3)| 1910011 0012 0013 0014 0015 0016 0018 0017
Port M33X2, Rear Case S ol
Drain M14X1.5 , quare sp.ine Standard 4 Bolt
Standard Port Face 8[)—42()(1366)x7—47 Flange, Pilot®127(a3)| 191m1021 1022 1023 1024 1025 1026 1028 1027
(01)
Square Spline
Standard 4 Bolt
6D—40>g2;(10—51 Flange, Pilot®127(A3)| [91m1031 1032 1033 1034 1035 1036 1038 1037
CPO“ DG3/.4 Gl’/ffar Straight ®1.5” Standard 4 Bolt
ase bratn . | Flat Key 9.52 Flange, Pilot ® 191m0071 0072 0073 0074 0075 0076 0078 7700
Standard Manifold Port (25) 127 (A4)
Face (54)
Square Spline Standard 4 Bolt
Porgrgfix;14§§>ag Case | onyox3ex7(16) | Flange, Pilot pia7 | 191mi021 1022 1023 1024 1025 1026 1028 1027
Standard Port Face Straight ®40 | Standard 4d14 Bolt
(01) raig andar (¢}
Flat Key 12 (25) |Flange Pilot Fl2s(aa) | 19110151 0152 0153 0154 0155 0156 0158 0157
Port M24X1.5, Rear
X y Straight ®©40 Standard 4 Bolt
Case Dra1(r614l)/114)(1.5, Flat Key 12 (25) |Flange, Pilot®125(az)| 1910011 0012 0013 0014 0015 0016 0018 0017
Port M22X1.5, Rear Square Spline Laree 4 Bolt Flange
Case Drain M14X1.5 6D-40X35X10~ Pgﬂot @160(B2f’ 192m1081 1082 1083 1084 1085 1086 1088 1087
(65) 35.25 (12)
Port®14, Rear Case
Drain G1/4” BSP, Straight ®40 Large 4 Bolt Flange
Standard Manifold Port |Flat Key 12 (26) Pilot ®160(B1) lzonzl ©lz2 0128 Cl22 Gl Gl Oz Oy
Face (62)
Standard 4 Bolt
i ®
Port ®16, No Case Straight ©40 Flange, Pilot®127 | 191m0091 0092 0093 0094 0095 0096 0098 0097
Drain, Standard Flat Key 12 (25) (A3)
Manifold Port Face Square Spline Standard 4 Bolt
(07 8D-42X36X7-47 andar ° 191m1041 1042 1043 1044 1045 1046 1048 1047

07

2014-10



SMT Disc Motors

SMT ITHRER

ARG AU ik

Wi 1-5/16-12UNF . ,\ g
D , 5 A=
Oring, MEHA: 7/16-20 HUAI®38. 1, Jrgl |hEALER IREH 00 06s 1065 1066 1067 1068 1107 191 1069
) 9.56 (21) ®©127 (A3) 0188
UNF Oring, (10)
B ©40, 3 i i,
Emlz gl)?ﬁé *ﬁ’ﬁﬁé’f?m;tu 193m1094 1095 1096 1097 1098 ég;g (1)2(1)';1 1099
W G1” BSP, Jmilt
: G1/4” BSP, (06)
Eifh®38. 1, Jikk | bavfE4flix=, b0 ) ) )
9.52 (21) 127 (a3) | 191m0131 0132 0133 0134 0135 0136 0138 0137
HiBAEsE 6D e
40X35X10-35. 25 ”Lfl’éfm’l;tu 192m1041 1042 1043 1044 1045 1046 1048 1047
Wi G1/27 i (12)
He o 69) HOALHE 8 AUk, 1E
AL D- S/ = N
A2X36X7-50 (15) ®160 (B1) 192m1091 1092 1093 1094 1095 1096 1098 1097
shid:  G3/4” BSP, it |Eifh @40, SFEE12 | ARdEafliEs, 1ED
. Gl/4” BSP,  (56) 24) ©125 (46) 192m0031 0032 0033 0034 0035 0036 0038 0037
WId:  G3/47 BSP, Jaiftt ; . s
" ®40, F 3 w2,
yiE: G1/4” BSP, FRdE Emlz §35>+% *’Tﬁéﬁ’f <A4>¢D 191m0061 0062 0063 0064 0065 0066 0068 0067
WER T (52)
Hih ©40, PR | brdEafliss, k0
12 (25) ©127 (43) 191m0011 0012 0013 0014 0015 0016 0018 0017
WIET: M33X2, JEithihi FHTEAEHESD- bt fLik 2, k0
MLAXL 5 . (01) AZX36XT-47 (16) ©127 (A3) 191m1021 1022 1023 1024 1025 1026 1028 1027
A 6D- | badk4fLiEE, 1kH
AT () w127 1) 191m1031 1032 1033 1034 1035 1036 1038 1037
Wid: G3/47  JEilt - . o
SN ®38. 5 s,
e G1/4” , FsifERRC E*mg 558(;5)7?%& h/&g};ﬁ;@)mu 191m0071 0072 0073 0074 0075 0076 0078 7700
P O (54) '
HTEAEE 8D- FrefEa gL s, k0
WO M33X2, S A9X36X7 (16) s 191m1021 1022 1023 1024 1025 1026 1028 1027
[: M14X1.5 , #edeshl
i (01) Eih 40, Pt 12 (bR, k0
(25) F125 (A4) 191m0151 0152 0153 0154 0155 0156 0158 0157
WE: M24X1. 5, Jaillih | A ©40, P | FedE4flisE, kD
0. MI4XL 5 . (64) 19 (25) ©125 (42) 191m0011 0012 0013 0014 0015 0016 0018 0017
. . HiJE 6D- . NN
W M22X1. 5, JEittih 7 b fLIE>, 1k
. MI4XL 5 (65) 40x35>z£)35.25 ©160 (52) 192m1081 1082 1083 1084 1085 1086 1088 1087
ME: o148, JEitkh o . N
= f ©40, - 2 5 1A=,
[1: G1/4” BSP, FrdfERR E*mlz ‘igﬁfﬁ% *’T’ngé%(m)mu 192m0121 0122 0123 0124 0125 0126 0128 0127
3%z 17H (62)
B ©40, PR | brdEaflik, b0
. ©16EFL, il 12 (25) D127 (A3) 191m0091 0092 0093 0094 0095 0096 0098 0097
F, bRkt agepen
on MOBAERE 8D | hsEAdLik=, I 191m1041 1042 1043 1044 1045 1046 1048 1047

42X36X7-47 (16)

D127 (A5)

118

2014-10



SMT Disc Motors

SMT-Wheel Motor Ordering Information

Port 15/16—12UNF

Tapered ®1.75”

ARG AU ik

Oring, Rear Case Drain Wheel Motor 4 Bolt 191m
7/16-20 UNF Oring, Flat Key Flange, Pilot ®139.7 194m1070 1071 1072 1073 1074 1093 4218 1075
11. 138(25)
(12)
Port G1” BSP, Rear
. -~ Straight ®40 Wheel Motor 4 Bolt 191m
Case Dralr(}o(l})l/4 BSP, Flat Key 12(25) | Flange, Pilot®139.7 194m1082 1083 1084 1085 1086 1100 0228 1087
Tapered @®1.75”
Port M33X2, Rear Case Wheel Motor 4 Bolt
Drain M14X1.5 (01) 11:1?.;)8}2;(3;> Flange, Pilot®139.7 191m4121 4122 4123 4124 4125 4126 4128 4127

Wi15/16-12UNF Oring . N N

P - T HEEERN ©1.757 | ZedpThikaqlik, kR 191m

/ﬂ/ﬂ]lﬂl 7/16-20 UNF JiE1. 138 (25) ©139. 7 194m1070 1071 1072 1073 1074 1093 1218 1075
Oring, (12)

A G1” BSP, ity 1 Hiho40, ERpHikafliEE, kA 191m
61/4” BSP, (01) St 12 (25) ©139. 7 194m1082 1083 1084 1085 1086 1100 0298 1087
W M33X2, it HEJERD @1.757 | R HikaqLik:, kR

M14X1.5 (01) JiE11. 138 (30) 139, 7 191m4121 4122 4123 4124 4125 4126 4128 4127

SMT-Bearingless Motor Ordering Information

Port R1” BSP O-ring Standard 4 Bolt
, Drain R1/4” BSP |8.5/17DP 12Teeth anda . ° 195m1043 1044 1045 1046 1047 1076 1049 1048
R Flange, Pilot®127
0-ring (06)
Port G3/4, Drain G1/4 Standard 4 Bolt
(52) 8.5/17DP 12Teeth Flange, Pilot®127 195m9141 9742 9143 9144 9145 9146 9148 9147
SMT-TEHiR AT R R

Wi R1” BSP O-ring , kg ] o

MHHIORL/4” BSP O-ring [ 8.5/17DP 12k THVRSIERHEALIE, | 051043 1044 1045 1046 1047 1076 1049 1048
(06) 1EA®127

wA G3/4(’£;ED G/4 1 g 5/170p 1288 fﬁ&iﬁ*’gfﬁ”ﬁ:’ 195m9141 9742 9143 9144 9145 9146 9148 9147

109

2014-10



K O BSE" SMT Disc Motors

R BC VR s Ty ik
Model Code for SMT Series Motors
SMT &R ik 4t
S M T
Position 1,2,3 ---SMT Series Motor
F12,30 K0y, FLARSMT RS ik
Position 4  ----Motor Type
BANEC Y, s Bk
A e Standard Motor A Series, FrifE Zik AR
B - Standard Motor B (Large Flange ) Series bréf kB (Kik22) F7
C - Wheel Motor Series , 4246 ik & 4
D - Bearingless Motor Series , G 15 R 41
E - Brake Motor Series , 5 il 5 5 ik R 5
Position 5, 6  ---Displacement, cc/r

5, 6 fify, FonLikHE

01 ----195
02 ----245
03 ----310
04 ----390
05 ----490
06 ----625
07 ----800
08 ----985

Position 7,8 ----Flanges and Front Drain
CHYRIVA /o SR S P TR LI

G1/4” $d14.5/ d 162 2121-01

M14X1. 5 $d14.5/ 162 2121-02

NOJG d14.5/ d 162 2121-03

NOT& $ 14/ $ 160 2121-04

NOTG d17/ v 162 2121-05
120)

2014-10



SMT Disc Motors

ARG AU ik
Gl1/4” b 14/ 160 2121-06
M14X1. 5 $14/ & 155. 56 2121-09
9/16—18UNF b14.5/ $162 2121-10
M14X1. 5 b 14/ & 160 2121-11
Gl1/4” ¢ 18/ $ 200 2115-01
M14X1. 5 $ 18/ 200 2115-02
N0 ¢ 18/ $ 200 2115-03
NOTG b14.3/ $184. 15 2120
NOJG b14.3/ d162 2127-01
Gl1/4” $ 18/ 200 ZDT

Position 9 ----Pilot

Fo iy, FoRGisi ARG
----A Type Motor Pilot: @125, High: 13.5; ARSIk @125, &: 135
---- A Type Motor Pilot: ®©127, High: 13.5; AL FITD127, &: 135
---- B Type Motor Pilot: ®160, High: 8; BH ik 11D 160, =: 8
---- C Wheel Motor Pilot: @139.6, High: 8; CZ#85ikik11®139.6, f: 8
---- D Bearingless Motor Pilot: ®162High: 12.5; DCHl& ik 1625 : 12.5

F ---- E Brake Motor Pilot: ®140, High: 30: Efflzh ik 111 d®140, 7: 30

Position 10, 11 ----Output Shaft

9510, 1LA2EY, Ao Bl RS

01 ----P45Involute Splined Shaft #iJT £k fe8tsh, m2.5 z17; M12

02 ----®44Involute Splined Shaft #7FF£kfuitdl, m25 Z16; M12

03 ----®35Involute Splined Shaft #7 T kv it4h, m2 Z16; M12

m O O W

04 ----®38Involute Splined Shaft #7FF £k {4, DP12/24 Z17; 3/8-16UNC
05 ----®38Involute Splined Shaft #ifF2k{EiE%h, DP12/24 Z17; M12
06 ----®38Involute Splined Shaft #iFT4k{Lid4h, DP12/24 Z17; 3/8-16UNC
07 ----®38Involute Splined Shaft i JT- £ {LfkHl, DP12/24 Z17; M12
08 ----®38Involute Splined Shaft #iJf £k {tfk#l, DP12/24 Z17; 3/8-16UNC

211

2014-10



SMT Disc Motors

09 ---- Square Splined Shaft % JE {1
10 ---- Square Splined Shaft % 5 ¢ 4k :
11 -—-- Square Splined Shaft % 5 ¢ ik :
12 ---- Square Splined Shaft % J& 4+ 5 -
13 ---- Square Splined Shaft % J 4+ 5 -
14 ---- Square Splined Shaft & /i {1/ :

ARG AU ik

6D- @ 30X @ 25.3X8-32;M8
6D- @ 30X @ 26X6-40;M8
6D- @ 38X @ 31X9-55;M12
6D- ® 40X @ 35X10-35;M12
6D- ® 40X @ 35X10-51;M8
6D- D 40X @ 35X10-35;M16

15----Square Splined Shaft i JEAtfE: 8D- D 42X ® 36X7-51;M12
16----Square Splined Shaft 1 JE L8 : 8D- P 42X @ 36X7-47;M10

17
18
19
20
21

22

----® 32Cylindrical Shaft ,Flat Key10X55 ;
----® 32Cylindrical Shaft ,Flat Key10X45 ;
----® 32Cylindrical Shaft ,Flat Key10X50 ;
----® 35Cylindrical Shaft ,Flat Key12X70 ;

----®38.1Cylindrical Shaft ,Flat Key9.5X45 ;
®38.1 il Jr###9.5X45; 7/8-16UNC

---- ®40Cylindrical Shaft ,Flat Key12X63 ;

23---- ®40Cylindrical Shaft ,Flat Key12X45 ;
24---- © 40Cylindrical Shaft ,Flat Key12X50 ;
25---- @ 40Cylindrical Shaft ,Flat Key12X65 ;
26---- @ 40Cylindrical Shaft ,Flat Key12X70 ;

27---- P 38.1Cylindrical Shaft ,Flat Key9.5X67 ;

28---- ©38.1Cylindrical Shaft ,Flat Key9.5X86 ;

®38.1 HAl “F4#9.5X67; 7/8-16UNC

®38.1 HHl “F4#9.5X86; 7/8-16UNC

29---- ©50Cylindrical Shaft ,Flat Key14X70 ;
30 ----®45Tapered Shaft , Tapered1:8, Flat key11.138; M33X2
D A5HERN, HEFRE1:8, JrfH11.138; M33X2
31 ----®45Tapered Shaft ,Taperedl:8, Flat key11.138; 1-1/4-18
O ASHER, HEFZ1:8, JrH#11.138; 1-1/4-18

212

®32 F4l P H10X55;
®32 E 4l PH10X45;
®32 E 4l F5£10X50;
®35 EAl FH12X70;

M8

M12
M12
M12

D40 HHh FH12X63; M12
D40 B4l FH#E12X45; M12
©40 B4l FH#12X50; M12
D40 H il FHEL12X65; M12
© 40 HHil FHE12X70; M12

@50 H il FEE14XT70; M12

2014-10



SMT Disc Motors

Position 12. 13

----Port, Case Drain Port

A2, 130 ET, Ko v LRI 1 R S)

ARG AU ik

01 M33X2 M14X1. 5
02 Gl G1/4
03 G3/4 Gl/4
04 M33X2 G1/4
05 M27X2 G1/4
06 R1 R1
07 2 — €16 Manifold Mount M14X1.5
08 2 — €16 Manifold Mount NONE (J5)
09 2 — €16 Manifold Mount M14X1.5
10 1. 1325-12UNF . 4375-20UNF
11 1. 0625—-12UNF . 4375-20UNF
12 2 — €16 Manifold Mount M14X1.5
51 Gl Manifold Mount G1/4
52 G3/4 Gl/4
53 M27X2 G1/4
54 7G3/4 Gl/4
55 G1 NONE (5)
56 G3/4 NONE ()
57 M22X1. 5 NONE (J5)
58 G1/2 NONE (J©)
59 M33X2 NONE (5)
60 Gl G1/4
61 2 — ¢14 Manifold Mount NONE (J5,)
62 2 — €14 Manifold Mount NONE (J5)
63 1. 0625—-12UNF NONE (F5)
64 M24X1. 5 NONE (TB)
65 M22X1. 5 G1/4

Position 13 ----Paint
EKIDA (S

RIRWEREOR

0 ----No Paint AmiE
1 ----Blue Mikrifk i
2 ----Black MihraEREIL RS
3 ---- Others, Please Note on PO & Bk i 1T i

213

2014-10



K BSE" SMT Disc Motors

R BC VR s Ty ik
Position 14 ----Specical Features
WA E Y, Ron SRR IREEK
0 ----None
T B R
1 ----Viton Shaft Seal
B A TR AR
2 ----Vition Seals
S dat PR TR AR
3 ----Viton Shaft Seal and Viton Seals
s S R P Al SRS
Position 15 ----Motor Rotation ik jig 4% J5 [
Viewed From Shaft End 1%} % H il it
A ----Port A Pressurized CW Ayl I BEE Iy, e
B ----Port A Pressurized CCW A S I HESE Jyi, 0T ied%

27

2014-10



